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I = (u® — w4 —du+ 1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u —udt+... —4u+1)

(i) Arc colorings

0
ail = \u
1
a5 — u2
u
a0 = \ud+u
w? 41
as = \u? + 202
—ud —2ud —u
a1 = \ —y7 —3u® —2u +u
ud +2u
ag = ud +u
—ub —3ut —2u2 +1
as = —ub —2ut —u?
w'® + 7l + 20u + 2702 + 11010 — 1308 — 16u8 — 6ut —u? + 1
az = \ 420 4+ 8u'® + 26u'S + 40u'? + 19u'? — 2410 — 30u® — 2ub + 5ut — 2u?
—ud —4u” — 5ud + 3u
ag = \ —u2 —3u" —3ud +u
—u?? —9u?0 . A + 1
ar = \ —u?? — 8u?0 + ... — du* + 3u?
—u?? —9u?0 . A + 1
a7 = \ —u?? — 8u?0 + ... — 4yt + 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 43t — 40?3 + 52032 — 48431 4+ 300u30 — 256122 + 980u2® — 772127 + 1868u26 —
1352u?% + 1680u?* — 1100u3 — 756u?2 4+ 500u?' — 3692120 + 2060u'® — 3200u'8 +
153617 + 804u'® — 428u!5 + 3104u'* — 1136u!3 4+ 1216u!? — 208u!! — 9760 4 368u? —
704u® + 64u” + 136u’ — 128u® + 128u? — 24u3 — 28u? + 20u — 22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 WPt 4 —2u—1
Ca2,Cq w13+ + 100+ 1
C3,Cg, C 5
3, €8, C9 ud Mt —8u—1
C11
€4, Cs, C10 w4 —du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yy — 133+ 410y — 1
2, Co y*? +19y% + -+ 26y — 1
€3, €8, C9 Y3 — 41y 426y — 1
C11
€4, C5, €10 Y 4+ 27y -+ 10y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.154678 + 1.0104501 1.47757 — 2.067541 | —12.18012 + 2.638201
u = —0.154678 — 1.0104501 1.47757 +2.067541 | —12.18012 — 2.638201
u=0.908910 —13.2599 —19.8870

u = 0.902196 4 0.0333041 —9.04332 — 7.101581 —16.2339 + 4.88201
u = 0.902196 — 0.0333041 —9.04332 4 7.101581 —16.2339 — 4.88207
u = —0.889066 + 0.0232501 —7.40598 4 1.640451 | —14.07012 — 0.259471
u = —0.889066 — 0.0232501 —7.40598 — 1.640457 | —14.07012 4 0.259471
u = 0.126515 + 1.1956201 2.79133 — 1.629711 | —6.97786 + 4.000421
u = 0.126515 — 1.1956201 2.79133 4+ 1.629711 | —6.97786 — 4.000421
u = —0.253657 4 1.1966401 —0.75414 + 3.238381 —15.3127 — 4.69961
u = —0.253657 — 1.1966401 —0.75414 — 3.238381 —15.3127 + 4.69961
u= 0.198838 + 1.2954401 4.68045 — 2.806361 | —6.46642 + 3.036161
u= 0.198838 — 1.2954401 4.68045 + 2.806361 | —6.46642 — 3.036161
U 0.016865 + 1.3157701 6.80865 — 2.682701 | —3.85369 + 3.321271
u = 0.016865 — 1.3157701 6.80865 4 2.682701 | —3.85369 — 3.321271
u = —0.229253 + 1.3043501 3.85759 4 8.167951 | —8.47769 — 8.326541
u = —0.229253 — 1.3043501 3.85759 — 8.167951 | —8.47769 + 8.326541
u = 0.441243 4 1.2541001 —5.26665 4 2.304841 | —13.10183 — 1.739121
u= 0.441243 — 1.2541001 —5.26665 — 2.304847 | —13.10183 + 1.739121
u = —0.426047 + 1.2600901 —3.57477 4 3.062281 | —10.68806 — 2.965481
u = —0.426047 — 1.2600901 —3.57477 — 3.062281 | —10.68806 + 2.965481
u= 0.437322 4 1.2842901 —9.27089 — 4.808581 —16.4615 + 3.11011
u= 0.437322 — 1.2842901 —9.27089 + 4.808581 —16.4615 — 3.11017
u = —0.638167 —4.33695 —20.8200

u = —0.610512 + 0.1844951 —0.75413 4 5.180511 —14.8353 — 7.31001
u = —0.610512 — 0.1844951 —0.75413 — 5.180511 —14.8353 4 7.31001
u = —0.416900 + 1.2976301 —3.29192 4 6.315271 | —10.32852 — 3.159891
u = —0.416900 — 1.2976301 —3.29192 — 6.31527] | —10.32852 + 3.159891
uw= 0.423822 + 1.3071901 —4.86404 — 11.844501 | —12.4530 4 7.64301
u= 0.423822 — 1.3071901 —4.86404 + 11.844501 | —12.4530 — 7.64301




Solutions to I}

V=1 (vol + /=1CS)

Cusp shape

0.520978 + 0.1937691

0.117264 — 0.2156701

—13.04627 4 2.217941

0.520978 — 0.1937691

0.117264 + 0.2156701

—13.04627 — 2.217941

0.123574 + 0.5254381

1.48613 — 2.364431

—8.99438 + 4.592591

0.123574 — 0.5254381

1.48613 + 2.364431

—8.99438 — 4.592591

0.306778

—0.541818

—18.3300




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 P+t —2u—1
C2, Ce ud® + 13u3 -+ 10u+ 1
C3,C8,Cy WP o 8u—1
C11
C4,C5,C10 uP 3t —du—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,07 y* —13y% 4 410y — 1
C2,C6 y* +19y% + - 4+ 26y — 1
Cc3,Cg, Cg y35—41y34+--'+26y—1
C11
€4, 5, C10 v 27yt o 10y — 1




